2010/06/25

iogobobbooooobbboooobobbuooooo

(10-1) 00000 (v)0D000000000000
00000000000 (Hint: PHopital 000, P90 O 4)

T —sinx T —p*

(1) lim ——— (1i)  lim (iii)  lim %
z—0 x z—0 x T—00
1 T - 1
(iv) nn%£4£t3?44449 (") lim(cosa)=  (vi) lim logwlog (1-%)
T— xX T— T —00 x

(10-2) 0: 0000000000000 O0O0O0O0O0O0OOOO0O0O0
00000 f(z,y) O (z,y) =(xo,y0) 0000 £000000lmMy gy yoy flz,y)=¢000000
O0e—600000O

Ve > 0,30 > 0s.t. d((z,y), (zo,y0)) <6 =|f(x,y) — ¥ <e

00000000d00000000000000000000000000000000
(0o000d((z,9), (o, %)) = V(@ —20)2 +(y—4)2 000000000)

00000000000 (2,y) O (20,%)000000000000000O0limit 000000000
oooo

ﬁ)DDf@w%:J%QJ]@yﬁJQmDDDDDDDDDDDDD
(Hint: 2|zy| <2?+¢420000000)

(i) 00 f(z,9) = @352 O (z,y)=(0,00000000000000000
(Hint: 00 y=ma 00 (z,y) 0 (0,00 0000000000)

(i) 00 f(z,y) = 745 0 (z,9)=(0,00000000000000000

(10-3) DOooooooooo
(i) 2z <sinz <z O<z<3)
(ii)x—%<sinx<x (x >0)

Hint: () 000000 f(z)=2—sinz 0 z>000000000000000g(z)=sinz— 2200
0000g(0),9(2) 000 ¢"(x) 00 (000 0<2<%)000000000000000000



oo
(10-1)

(v) L (vi) 0

| . a i
(1) G (ii) logg (iii) 1 (iv) — NG

N

(10-2) (i) fla,y) < ¥ 0006=2 00000000 0000000000000000
(i) y =me 0000 f(z,y) = D000mOO0DOO0O00D0
(111)x:my3D|]E|Df(xy)—1+ - 0000m 000000000

(10-3) (i) OO0OG) O f(z) =sine —x+ % DD[ID[]f( )—cosx—l—&—?D[II:IDf”(x):x—sianl
oooobodgbodz>o00 81nm<zDDDDDDDDf/'(I)>OD x>000000000 f(0)=0
000z>00 f(z)>00000000 f(0)=00002z>00 f(z)>0000000

Thm?



